
Art. Nr. 927430

LKZ 641164

D Montageanleitung
Notice de montageFR

CZ
Handlieding voor de montageNL

HU
Montaj talimatiTR RU é�����ö�z��ü��ú���rx�

Instrukctiuni de montajRO

PL Instrukcja montazu
SK

IT Istruzioni di montaggio
Assembly instructionsGB

�:9?F_94�9FA:/

#E0=07J>4�P?8@?,?M

�FA:/�9,�8:9?F_

livingb.p.c
b o n p r i x   c o l l e c t i o n



Size/MaB (mm)N Qty
1 1�  M� M�	

QtyN
19

Size/MaB (mm)

2 1�  M� M�	 20
3 1 21
4 1 22
5 1 23
6 1 24
7 2 25
8 2 26
9 2 27

10 3 28

	��M�  M�	

	��M�  M�	

�  �M�� M�	

�  �M�� M�	

�� M���M��

�� M���M��

� �M���M��

���M���M��

2

�� M���M��

�� M���M��

��  M� M�	

���M�
�M�	

�	 M�
�M�	

��		M� M�	

��
M�
�M��

�
�M�
�M��

3 29
3 30
1 31
2 32
3 33
1 34
1
1

���M�
�M��


��M���M��

�� �M�� M��

�� �M�� M��

�� �M�� M��

���	M�
	M��

���	M��	M��

���	M��	M��

��
M���M�	

��
M�
�M�	

���M���M��


��M���M��

���M�
�M�

�  �M�
�M�

��
M���M�

��
M���M�

2
1
1
1
1
1
1
1
2
2
2
2
2
2
2
3

11
12
13
14
15
16
17
18

A B C D E F

G H I J K L

M N O P Q

7x32

x56

15x12

x24

20x0.5

x12

8x35

x84

4.5x45

x1

8x40

x1

x18
3x20

x31

R

S T U V W X

Y Z AA AB

L350

x2

3x16

x8
4x40

x6

x5

4x16

x16
70x50

x3

x1

3.5x16

x2

5x16

x16

x8

x8 x9

M4x30

x8

M4x20

x10

x8
L250

x3

3x13

x30

3.5x13

x30 x5

15x16

x32



3

7DLG���7DDL���7DWTD���2QIL���X>C@>GaA

7P����7N����XecAg

 VO��� VOG��� IO���ZaI

�GPSIFG���-IGMQRSGPKGMIMH����GPTIQ����GPSIQ���YAg@aKG>k�KbiB?>

23

26

20

5

32

32

28

28

6

25

22

18

24 27

27
3

4

17

21

13

2

16

1

31

19

31

33

33

7

9

11
34

10 12

8

7

9

8

30

30

15

14

29

11
34

10 12
11

34

10 12

15

15

14

29



1 A

4

7x32

x14

A

B

A 21

21

2

A

1

213

16

A 7x32

x4
B 15x12

x12
D 8x35

x12

A

A

A

A

A

A

A

A

A

A

A

A

A

A
A

A

A

B

B

B

B

B

B
D

B

B

B

B

B

B



3

5

O 70x50

x3

16

13

1

2

O

O

O

O

O

O

O

4

21

13

1



5

6

W

T

G

x4

T L350

x1
W 3.5x13

x4

D 8x35

x8

A 7x32

x4
B 15x12

x8

P 5x16

x4P

P

G

G

A

B

D

P

P
G

3 4

GG

6

P

P

C 15x16

x8
P 5x16

x4
Q

x4
R 3x16

x4

C
P

P

18

17

18

17

T L350

x1
W 3.5x13

x2

W

T



7

7

A 7x32

x14

8 A 7x32

x4
C 15x16

x4

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

C

22

24

A
C



9

8

T L350

x1
W 3.5x13

x2

10

E 20x0.5

x8

24

21

3

17

4

18

E

E

E

E

E

E

E

W

T

22

31

31

E



11

9

A

B

D

C

P

P

G

G

P

P

G

G

5 6

G

12

19 x2

C 15x16

x12
P 5x16

x4
Q

x4
R 3x16

x4
P

P

P

P

20 20



13
A

10

7x32

x8

A

14

A

A

A

A

A

A

A

A

25

26

25

C 15x16

x8

C

19

19

26



15

11

U L250

x2

16

25

W 3.5x13

x8

W

U

26

6

5

20

E

E

EE

E 20x0.5

x4



17

12

L

M

x18

S

U

4x40

x6

x5

L250

x1

18

W 3.5x13

x4

W

U

23

32

32

5

6

S

S

S

S

S

S

M

N

L

N

L, N

N 3x20

x31

L, N

L, N N
M, N

M, N

M, N

M, N

M, N

L, N

L, N L, N

L, N
L, N

L, N

L, N

L, N

L, N

L, N

L, N

L, N

L, N

L, N

L, N

N

N

N

N

N

N

N



19

13

X

x2

x2

8

7

14

33

33 14

9

D+X

8

9

7

DDD 8x35

x24

x2

14

33

20

X
X

X

X
X

X
X

X

X

X

X

I

K

I

K M4x20

x4

x2

V

V

V

V

V

V

T L350

x2
V 3x13

x12T

T

K

D+X

D+X

D+X



21

14

X

x3

x3

12

11

15

34

34 15

10

D+X

12

10

11

DDD 8x35

x36

x3

15

34

22

X
X

X

X
X

X
X

X

X

X

X

I

K

I

x3

V

V

V

V

V

V

U L250

x3
V 3x13

x18U

U

K

D+X

D+X

D+X
K M4x20

x6



23

15

24

J

4.5x45

x1

8x40

x1

Y

Z

AA

AB

x1
3.5x16

x2

M4x30

x8

I

F

x8
H 4x16

x16

I

J

J

I

J

J

30

29

x2

x4

30

30

29

29

Y

AA

Z

AB

Z

Y, Z, AA, AB

28

28

27

27



25

16

W 3.5x13

x10

W

W

W

kg10

15

14

15

15

14



n��v��zô�í�ö�úü}wö��ü���ríöz�úr�w�zr}�v}��ö�wü}w�z���r���w�w��v�sw}z�z�
s�}����ü�wv�ró�r�w����}�ö��v}��ü�������örúw�������w����rü�zúw���sw�������
z}z�öz�üz�������ç}��v��uz���zü�í���w��z�ü�}�ó�ô�w�ü��úw�w��w�s��vzú���z�
�üw�zr}���w�v�sw}z�z�v��uzw�s�}����è��úw�w��w�s��vzú���z��s�r�z�w���ór�
ü�ú�����ö��üw�zr}z��rú�

RU

TR
$0>748,?�6,;>,89/,64�/@A,=�?4;4�>,-4?7080�8,?0=D,74��/Q-07�A0�A4/,7,=��>,/0.0�-0?:9�
A0�?@a7,�/@A,=7,=�2U-U�>,a7,8�/@A,=�D,;7,=�UIU9�@D2@9/@=���,b6,�/@A,=�D,;7,=�UIU9�OE07�
/Q-0770=�A0D,�-,b6,�AU/,7,=�20=067U���0=06U=>0�-U=�@E8,9/,9�D,=/�8�,7�9�E�

�,?0=4,7@7�1@=94E,?�;09?=@�8:9?,5@7�/0�;0=0?0��/4-7@=4�b4�b@=@-@=4��0>?0�,/0.A,?�9@8,4�
;09?=@�E4/d=40�>:74/d��/0�0C08;7@�;0=0k4�/49�-0?:9�>,@�/49�.d=d84/d��� 09?=@�,7?0�
>?=@.?@=0�/0�;0=0k4��0>?0�;:>4-47�>d�140�90.0>,=0�/4-7@=4�>;0.4,7��;=0.@8�b4�,7?0�
b@=@-@=4���,.d�0>?0�90.0>,=��.:9>@7?,k4�@9�>;0.4,74>?�

RO

HU
��8077J607?�1,74�=h2E4?h6J>E70?��?4;74�J>�.>,A,=:6��.>,6�?h8h??�1,7,E,?-,9��;7��
-0?:91,7-,9��?J27,1,7-,9��3,>E9F73,?h���F>�1,7?4;@>:63:E�>;0.4F74>�?4;74=0�J>�.>,A,==,�
70>E�>EQ6>J2��#EQ6>J2�0>0?J9�6J=50�64�02D�>E,608-0=�AJ708J9DJ?�

 =47:_09̀�8,?0=F7�;=0�@;0A90940�9,�>?09@��38:_/496E�,�>6=@?6D��50�A3:/9̀�709�;=0�
;0A9J�8@=4A:��9,;=��-0?N9:AJ�,70-:�?037:AJ�>?09D��� =0�49J�>?09D�>P�;:?=0-9J�;=L;��
;̂0.4F790�38:_/496D�,�49J�>6=@?6D��&�;=L;,/0�;:?=0-D�>,�;:=,/?0�>�:/-:=9L6:8�

SK

CZ
 á47:_09D�8,?0=4F7�;=:�8:9?F_�9,�>?g9@��38:_/496D�,�̂=:@-D��50�A3:/9̀�509�;=:�
;0A9J�E/4A:��9,;á��-0?:9:AJ�90-:�.437:AJ�>?g9D��� =:�549J�>67,/-D�>?g9�-@/:@�
;áL;,/9g�9@?9J�>;0.4F79L�38:_/496D�,�549J�̂=:@-D�� :=,/?0�>�:/-:=9L608�

ä,7e.E:9D�E0>?,B�8:9?,m:BD�/:�E,8:.:B,94,�,=?D6@]@�/:�àc4,9D��6:]64��B6=f?D��3,64�
4?;����;=E0E9,.E:9D�50>?�/:�8:9?,m@�,=?D6@]@�9,�à.4,9,.3�BD6:9,9D.3�E�.02]D�7@-�
-0?:9@�� =ED�8:9?,m@�,=?D6@]@�9,�à.4,90�BD6:9,905�E�499D.3�8,?0=4,7MB��9,70mD�
E,>?:>:B,c�:/;:B40/940�/:�9405�E,8:.:B,94,��'�=,E40�Be?;74B:à.4�;=:>48D�
E,>4f29,c�;:=,/D�1,.3:B.,�

PL

NL

Het bijgeleverde bevestigingsmateriaal (pluggen en schroeven)  is geschikt voor 
vaste muren (bijv. betonnen of bakstenen muren). Voor andere muurconstructies zijn 
eventueel speciale pluggen en andere schroeven noodzakelijk. Consulteer eventueel 
een vakman. 

I materiali di fissaggio allegati (tasselli e viti) sono adatti solo ai muri compatti (ad es. 
/4�.,7.0>?=@EE:�:�8,??:94��� 0=�,7?=4�?4;4�/4�;,=0?4�K�;=:-,-470�.30�:..:==,9:�?,>>0774�
speciali e altre tipologie di viti. Richiedere eventualmente il consiglio di un esperto.

IT

�0�8,?J=407�/0�14C,?4:9�8@=,70�1:@=94��.30A4770>�0?�A4>��.:9A409?�@94<@0809?�G�/0>�
8@=>�>:74/0>��;��0C��8@=>�09�-J?:9�:@�09�-=4<@0>��� :@=�70>�,@?=0>�.:9>?=@.?4:9>�/0�
8@=>��47�1,@?�JA09?@0770809?�/0>�.30A4770>�>;J.4,70>�0?�/T,@?=0>�A4>���,4?0>�A:@>�
.:9>04770=�;,=�@9�>;J.4,74>?0�

FR

GB

The enclosed wall mounting materials (dowels and screws) are only suitable for solid 
masonry (e.g. concrete or brick walls). Special dowels and other screws may be 
necessary for other wall constructions. If necessary, please consult a qualified 
professional.

�,>�-04/01Q2?0�',9/-010>?42@92>8,?0=4,7���Q-07�@9/�#3=,@-09��04290?�>4.3�9@=�1Q=�
10>?0>��,@0=B0=6��E�����0?:9�:/0=�*40207BH9/0����Q=�,9/0=0�',9/,@1-,@?09�>49/�
0A09?@077�#;0E4,7/Q-07�@9/�,9/0=0�#.3=,@-09�9:?B09/42��*40309�#40�2020-09091,77>�
eine Fachkraft zurate.

D


	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (1) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (2) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (3) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (4) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (5) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (6) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (7) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (8) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (9) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (10) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (11) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (12) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (13) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (14) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (15) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (16) (1)
	C:䐀漀挀甀洀攀渀琀猀 愀渀搀 匀攀琀琀椀渀最猀�slava䰀漀挀愀氀 匀攀琀琀椀渀最猀�Temp䄀挀倀甀戀氀椀猀栀开㌀㌀㘀㐀�УСАР.324219.476 ИС.DWG Лист (17) (1)

